What's in the box

What's in the box

Accessories for installing TV
e N

®x13 (DXY
’@
M8x20
@1 ©x1
=P @

DN R I
® ® ©)
M4x14 M4x30 M5x14
I CVE BT I
g
M6x14 M6x30 M8x30
M-G x4 M—H x4 IMI. x8
g — _
M8x50 5MM
2N x8
]
15MM

Easy to install
3

@x5

Easy to install Easy to install _ Easy to install
1 * 2 4

GQ




Easy to install Easy to install Easy to install Easy to install

8 Part 4 disassembly Composition de l'accessoire 4

OX4 ’@ = ®X1 B fra i Composizione dell'accessorio 4

2 IN—Y 4 DRHEK ) Desmontaje del componente 4
‘ Zusammensetzung des Zubehors 4
e [ @ RO,

- © @
Differentiate parts

ARXDERY
WRDOERI

Teile differenzieren
Différencier les piéces
Differenziare le parti
Diferenciar partes

Easy to install Easy to install Easy to install

I

s

RN

/W

— O

5mm+15mm M-J

Sélectionnez les vis appropriées de M-A a M-G et fixez la partie 4 aux quatre trous de vis /

situés a l'arriére du téléviseur. -
Méthode de montage A1 : sans rondelles —
Sil'arriére de votre TV est plat, choisissez A1 =
Méthode de montage A2 : avec rondelles (M-H a M-J) =
Si le dos de votre téléviseur n'est pas plat, choisissez A2, les rondelles peuvent étre =
empilées en fonction de la situation.

+E

Select appropriate screws from M-A to M-G and install part # 4 on the four screw holes on the back
of the TV. The back of the TV is flat, and the A1 installation method without gasket can be used; If the
back is uneven, A2 installation method with washers (M-H to M-J) can be used, and thick washers
can be superimposed according to the situation.

[_EN

—

EM-AEM-GEBNESERVRL, FEbfr 4 REERUEENMRLA L. BMEETEIEAR

MBEMAIRES N SEAFEAERAMEE M-HEM-)) HA2REA T, BRE R MURIERR
SNMER. Scegliere le viti appropriate da M-A a M-G e montare la parte 4 sui quattro fori per le viti

sul retro del televisore.
Metodo di montaggio A1: senza rondelle
Se il retro del televisore € piatto, scegliere A1

L

LTS

|_CH |

M-A~M-GH'\SEY) B R D ZBAT. N—Y 4 2T LEEEOX P UCERDMHIFT TSIV TLE
HFHETEDNBHE. Ty v—Z2FHDRVERDHITAEAMEZFERAL KTV TLEEHEIFTEST

BUVBE. Ty S r— EESEDR I EAE A LTSN (TS v— B IC kD ER TR Metodo di montaggio A2: con rondelle (da M-H a M-J) o
<E=E7T), Se il retro del televisore non e piatto, scegliere A2, le rondelle possono essere impilate a

seconda della situazione.

ITA

[P |

Wahlen Sie die entsprechenden Schrauben in M-A bis M-G und befestigen Sie Teil 4 an den
vier Schraubenléchern auf der Riickseite des Fernsehers.

Befestigungsart A1: ohne Unterlegscheiben

Wenn die Riickseite lhres Fernsehers flach ist, wahlen Sie A1

Befestigungsart A2: mit Unterlegscheiben (M-H bis M-J)

Wenn die Riickseite lhres Fernsehers nicht flach ist, wahlen Sie A2, die Unterlegscheiben
kdnnen je nach Situation gestapelt werden

Escoja los tornillos apropiados en M-A a M-G y monte la parte 4 en los cuatro agujeros
para tornillos en la parte trasera del televisor.

Método de montaje A1: sin arandelas

Si la parte trasera de su televisor es plana, elija A1

Método de montaje A2: con arandelas (M-H a M-J)

Si la parte trasera de su televisor no es plana, elija A2, las arandelas se pueden apilar
dependiendo de la situacién

[ DE

[ sP____




